EERT

BTUHEARREENEAAREEANER EEABLEXER -

King’s Flair International (Holdings) Limited
MOBEKR(ER)ER QA

(1% [ 42 1 5 2 W 7 19 A R 2N A

i =
HERMGEE : 175,000,000 B 7 (R FREERRETE
B A E)
RERMGEE : 157,500,000 kR R (A FEH o B &K F
HERERETHFEESME)

AHERERDEE : 17,500,000 8% & 120 (7] F E # 2 &)
BEREE @ SREERDVISBT(EREEFIHHE
BM1% LML 0.0027%FES
XEBERIILERIRS &E)
HE @ SKRERM0.01ET
B4 ARE 6822

BREREBA
EYERREBMBRBEERQF

. ® Baron Global Financial Services Limited

BERESEBARBEERZERA

\Y K4 ==,

R amsaRAT T EEEE -
Plng An Securities Limited ausql!n&n.s&#:ﬁﬁ(é ited
FWLH RERMARAR  FHHEALSNARLA A X EBPRETARAABAEBREEHANEMA AT
L e M B o8 B ﬁjfﬁﬁﬁ{?%% > Ml I fE 2 R B S Bl TR AR 4R I B AR A BRAT AT R A TR T EE A R IR KO

W% N ZE 51 B AT AT R R R I AT AR AT o

A FH I B AR A R A IR B R Bk b Tk 2 A Ak M E B R K i A SR ] — BT B B S A E%Eﬁﬁﬁ{iﬁﬂ%?ﬂﬁ

N AT B MR SO R BB 3AC IR M Bl E R E /B A AGEMERER SR - FHE S LM B FERZEGH

E /NI I o 11 A A o N T e 2 8 118 9 9 S DI I 7 N = W=

T S EEE G BR8N (A EAS KRR BEARNG R % — HAFE—H/CH B M) 585l 2 61

EME N (B Ho A B Jo A 32 60 88 1) BELAS % W) T BB b o MO IR H O B A W R 2 o R JE TR A & I B R &

R R0 1.48 ¥ T > H A TE R & KR 45 48 B 1.08 95 ot o P B 0 B B E R S IRE 2E S AT

¥6 7R f o 85 A A I 9RO 1.48 35 T > HE 7] 1% 8 A B 4~ 0.0027% w5 B g 52 5 B J20.005% Wk 58 BT 38 5y o A i

A T 0 B E AN R R R 148 T Rl T TR R o

Hﬁ%fﬁ%?ﬂ%%ﬁ? (B HoA B Jo AR R85 ) A S Al Al 3 > al R IR 38 A B8 & M s ik B B AR A0 > B IR RS AR 48
FEARAM S R S EEEE e W AN A RE N ES A EE RS N R 7R EE R ()

Eﬁi B K A i (rh 30) > LR AR 2N B) A 0l www . kingsflair.com.hk & B 22 B 48 3l www.hkexnews.hk TI| & U 7= 48 7 8

i [ 0 N e

ﬁﬂﬁ”ﬁf%ﬁiﬁ%}\ BHAGRAXBH M) BRI FALMEERGER —~F—HE—HTFMH R =) 20

Wi 72 4% B A - B 0 58 B I R & o AT S A R
ﬁ%ﬁfé%‘ﬂ%%zlﬂﬁﬂmﬁ}xﬁﬁ@fh}”ﬂl%fﬁ% AR AR B E AR (R B R R — T A 2 A

B H R TR R EE A (B ENZEREE A A —E 4 — AR (R EFURIE (&
{%B#F‘EJ B 2 B T B el B R AR IR N (R AR By e £ 3 BB ) AT A% Ik 6 B 7 R 6 B 1 ek I T TR o A
1k A 5 B9 3 — %#F%ﬁﬁ"ﬂﬂﬁﬂx%&(@%ﬁj*%F@%ﬁ BE R B — Bl b s oy Be o TR B 0 A0 B % A
DA i o — P 5E 1

WA =t



